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Topic:- General Knowledge and Logical Knowledge

1) Find the odd one out: / wﬁwmﬁﬁq
1. Hen and Chicken /Tﬁﬁ?ﬂa\?ﬂ

2. Cow and Calf /1T GﬁTE@@T

3. Sheep and Lamb / ﬂg 3R AHAT

4. Camel and Ass / ¢ 3R T4

Correct Answer :-

« Camel and Ass / G 3R T[T

2) Find the odd one out / T% faWH JTd Hifole:

1. 135
2.592
3. 357

4. 579

Correct Answer :-

« 592

3) The positions of the second and the eighth digits of the number 39128564 are interchanged. Similarly, the
positions of the fourth and the fifth digits are interchanged. The positions of the first and the sixth digits are
interchanged and the positions of the third and the seventh digits are interchanged. Which of the following will be
the third digit to the left of 3 after the arrangement? / ST 39128564 %W \?vﬁ? 3(3d 3ihl BT RIH Aqdd-dgdd
fear sirar 21 33 U R, Y 3R UiEd Sl T R 3ied-dd fauT ST 81 Ugd iR T 3idl ST ®I=
ATT-ged T T § 3R TR 31R AT 3l &1 I gd-ged [T T 31 ST AT S Uy Fa Hd
I 3 P ST IR 37 G2

1.8
2.2
3.6

4.4
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4) In a certain code language, You are watching cricket means Wa Cr Yo Ar; Cricket is a sport means Yz Sp | Ar; You
are a kid means Wa Cr Yz Ki. Which is the word for Kid in that code language? / Th YT IS YT ff, You are
watching cricket BT 3 f wa cr vo Ar; Cricket is a sport DT 3{ f vz Sp 1 Ar; You are a kid T 3{ f wa cr vz ki 3-']?" %I

9 Bl YT ¥ kid & 1T 759 <reg &1 3waara faran mar 82
1. Ki
2. Wa
3. Yo

4, Cr

Correct Answer :-

5) If TEACHING is coded CHEATING, then how is GRADIENT coded? / Tf& TEACHING @) CHEATING & Pifsd foar

STCT &, Y GRADIENT Y & Difsd fvar S
1. RGDIEANT
2. RADIGENT
3. DIRAGENT

4. DIERATING

Correct Answer :-

¢ DIRAGENT

6) In how many ways can 4 books be selected out of 10 books, so that the two particular books are always

excluded? / 10 Gao1 A W 4 Q&A1 1 fhant adid I T a1 o1 wwvar ¢ o 7 91 iRy tad wea
qafefd vedl 82

1. 28
2.45
3.70

4. 35

Correct Answer :-



E) FRT SFeRTSTa s Raw ¥ w0 & Rt sfde v w22

1. Jawahar Lal Nehru / SIdIgR A g

2. Mahatma Gandhi / HB'I?J:ITTIT‘PJT
3. Nelson Mandela / 9ea= Hedl
4. Martin Luther King / T TR T

Correct Answer :-

« Mahatma Gandhi / HSTHT el

8) Which national park has one of the highest densities of Bengal tigers known in the world? AP Kank: |

T I e STSTRY Y Faw Temaii & forg uRrg 22

1. Madhav National Park / HTYd QT@H [SEIE]

2. Sanjay National Park / Jolg TI@'C[ REIG
3. Van Vihar National Park / 99 [dgR ?Tszf RO

4, Bandhavgarh National Park / Sit/aTTe I S

Correct Answer :-
« Bandhavgarh National Park / Sit/aiTe MG S

9) The Capital of Yadava kings was / dlgd NEIRICIRIGEIETR)
1. Devagiri / CCIRN

2. Krishnagiri / $OMRART

3. Kanchipuram / aﬂ?ﬁw

4, Varanasi / TRTURIT

Correct Answer :-

» Devagiri/ CafRl

10) Akshay Kumar was conferred with the Best Actor Award at the National Film Award — 2017 for his

performance in the film . a{&mwaﬁ ﬁmﬁmm%m“@qmw-
2017 ¥ TN AT & A1 T faar war ATl

1. Jolly LL.B / Sicil Ueidat. &t
2. Airlift / TIRfAGE

3. Rustom / =&IH
4. Rowdy Rathore / I3SI AR
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¢ Rustom / ¥IdH

11) Where is Jehangir Art Gallery found? /\_rIFi‘ﬂ? 3T Tt ﬁ}f@ﬂﬁﬁ %?
1. Chennai / aﬂ_if
2. Mumbai / Hﬂg

3. Bengaluru / W
4. Delhi / faeil

Correct Answer :-

e Mumbai / 113_5;

12) Who administers oath of office to the Chief Justice of India? / WRd & q3] AR HY U B MUY DI

feamarg?

1. Vice-President 3U ngqﬁ

2. President / Tl'gqﬁf
3. Law Minister / [afe] #

4, Prime Minister / THTTHAT

Correct Answer :-

¢ President/ ﬂgqﬁf

13) Panditraj Jagannath was the poet laureate of which of the following rulers? / ufeaRTe sy Aafafea

@] § A e T By &2

1. Humayun / §HR,

2. Akbar / 3{dheR
3. Aurangzeb / 3 U

4, Shah Jahan /QTIBGIET

Correct Answer :-

« Shah Jahan / Q&SI

14) The President of India is elected by / ?TgCIﬁ' &l fpae GIRT AT STl % ?
1. Legislative Assemblies Only / Ryt faum wursit g1

2. None of the above / Tﬂéﬂﬁ | @ra?rs‘:@



4. Rajya Sabha Only / Rt IsaqyT

Correct Answer :-

« None of the above / Wﬁ@fﬁﬁ

15) The second Guru of the Sikhs was / RI&@1 & §'\‘ﬁ' = q
1. Guru Arjan Dev /[ 31\_21:7'[%3

2. Guru Angad Dev / T 3{TTG aq

3. Guru Gobind Singh / ﬂ?mﬁ—dm

4, Guru Amar Das / T[?& (HI N

Correct Answer :-

« Guru Angad Dev / T3 3{7TG ad

16) The slogan "Jai Jawan!JaiKisan!' was coined by ./ -TRT '5I9 SdT-! 514 frar! ' ¥ gr1 fear
7|

1. Bipin Chandra Pal ACIEE A

2. Lal Bahadur Shastri / ¢ SfgTgX IR
3. Jawaharlal Nehru / STdTgclle] EREa)
4, Jawaharlal Nehru / SIdigdldd |

Correct Answer :-
« Lal Bahadur Shastri / ¢flc] dglgR T

17) Chhattisgarh was carved out of Madhya Pradesh as a new state in the year . T USRI 31T

PO DTGB aY T a7 7T 9191 4T |
1. 1998
2. 1995
3. 2000

4. 2005

Correct Answer :-

« 2000



TYH HigHT &7 RBRI B
1. Divya Ajith Kumar / f&odT H@HW
2. Mohana Singh /Iﬁ%qﬁl_s’

3. Puja Thakur / YSIT STp
4, Tanushree Pareek/?‘lﬂ%ﬁtl'l'\ﬁﬁ

Correct Answer :-

« Tanushree Pareek/ﬂﬁ%ﬁw

19) Hanuwantiya Island is located in the reservoir of . eairﬁm ?ﬁ'q ﬁ%l' * SR |
fREag

1. Maheshwar Dam / II%%R are
2. Indira Sagar Dam / § =T 9FR &Y
3. Bansagar Dam / IR sty

4, Chanderi Dam / %I'éf[ sy

Correct Answer :-

« Indira Sagar Dam /% )T IR ST

20) Buz Bahadur palace is at / SoIdgIgY He ¢l | '@H’%l
1. Ujjain / S5O

2. Indore / Q.élq

3. Mandu / HIUg
4, Rewa /314l

Correct Answer :-

e Mandu / HIUG

21) Who composed the National Song of India? / HRd & ?T@ﬂﬁ?f% TR P A2
1. Sarat Chandra Chatterjee / IRd I Feolf

2. Bankim Chandra Chatterjee / Sfpm 9 gesit

3. Harivansh Rai Bachchan / ?ﬁﬂ'ﬂ G ddq

4. Rabindranath Tagore / TaI-gTY RS
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« Bankim Chandra Chatterjee / Sfopd % gesh

22) The immortal poet Kalidasa belonged to the town of / 3[HR G| W?ﬁ'c{l? FE A & ]
1. Ujjain / S

2. Indore /_Eaf_c‘aT

3. Hoshangabad / Eﬁwm

4. Bhojpur / 1—ﬁ\_:|13?

Correct Answer :-

« Ujjain/ >

23) Complete the series choosing the missing number: / &l IS TAHR YW DI GRT HIToTQ:
4,7,11,18, 29,47, , 123,199

1. 85

2. 81

3.76

4. 69

Correct Answer :-

« 76

24) Complete the series choosing the missing number: / T ST gHABR &l Ca| waﬂﬁm:

5,11, 19, 29,

1. 45
2.41
3.30

4. 39

Correct Answer :-

e 41

25) Complete the series choosing the missing number: / Tl BT TAB YT BI YRT DIfoTE:
5,18, 10, 12, 15,
(8)



2.6

3.12

4, None of the above / m@ﬁgﬁ

Correct Answer :-

26) Complete the series choosing the missing letter/s: / qWd &R/ AeRT B AP gl Eal T
_sr__tr__srs__r__srst__
1.s,t,rtrs
2.t,s,nts,r
3.t,s 6ttt

4.t,t,s,s, 1,71

Correct Answer :-

27) Select the option that is true about the Statements and Conclusions given:
Statements :

Some bags are boxes

All boxes are tables

Conclusions:

I. Some bags are tables

II. Some tables are boxes

| ¥ fapey &1 994 P o fr f3T e Hu=T o fewul & ar § 98t &
hYH:

P A aieq §

It s R A &

e
IL O AABAE
II. $© A9 g §

1. only conclusion Il follows / Had fAspy I WUTEI’T\’T'IT%

(9)



~

3. neither conclusion | nor conclusion 1l follows / - Epf fspy | ek T Eﬁ ey || S0 HIA %
4. both conclusion I and II follows / fF I 3R II g1 SR g

Correct Answer :-

« both conclusion I and II follows / faspd 1 3R 11 g SR A %

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All plates are saucers
No saucer is a cup

Conclusions:
I. No plate is a cup
II. No cup is a plate

/ 39 faweu 1 999 P i fp fow e YT ok el & aR & 98 &
hYH:

9t wie AR @

B AR $UTE &

s

L wie $U gl §

II. $SPUTPH We T8l &

1. only conclusion Il follows / Pad Y || GENTUTWT%

2. neither conclusion I nor conclusion Il follows / 7 &1 fIerT | 1R 71 g1 s 11 S{IR0T FRA &
3. both conclusion I and II follows / fAs5Y 1 3R 11 gHf SR Hd §

4. only conclusion I follows / Had fspy 1 SR DRl %

Correct Answer :-

« only conclusion I follows / %ae fsHY I SFIARTT T §

29) The first recipient of Rajiv Gandhi Khel Ratna Award was / UgdT ITeiig 7ie el I REPR e
Raarst &) ye™ foar mar un:

1. Leander Paes / i?«m SR Ug
2. Viswanathan Anand / faa=Ty= 3fHg
3. Kapil Dev /BUd <

4. Limba Ram / foraT IH

(10)



« Viswanathan Anand / [9=a=1Y 3iFig

30) Find the odd combination of letters and humbers from among the following: / ﬁ'ﬁﬁ’f@ﬁﬁ 3
3rerl Td wwEmmai 1 faww Jater 3 w9
i. 3257927 ii. 3259727 iii. 3257927 iv. 3257927

1.1v

Correct Answer :-

e i

31) Who administers the Oath of office to a Chief Justice of High Court? / Tdh 3= <A * qET
AT B ue B MUY i AT @ ?

1. Speaker / T
2. Governor / JISYUTe

3. President / Tl'gqi%f

4. Prime Minister / &I H3I

Correct Answer :-
¢ Governor / ISIUTAd

32) Umakant Gundecha & Ramakant Gundecha are well known v B‘H‘IHTIHI[U@T:H AR
AHAUSATAIZ__ §

1. Hindi Poet / Tgcl &id

2. Qawwali singers / s INIRIPED

3. Classical dancers / AT TP

4, Dhrupad singers / U 7D

Correct Answer :-

« Dhrupad singers / §Uq TUH

33) The series given below contains a sequence of numbers. Identify the incorrect combination: /

A & v e §, G@nel o1 Ue 9 IUFRIG ¥ Tad GaIe Ugang:
(11)



1. 84
2. 244
3.28

4. 10

Correct Answer :-

. 84

34) If ACTEDis coded STUAH, then how is ACE coded? | ¢ ACTED®) STUAHT Sifsd fparwirar g,
A ACE 3 A pifea fear sram?

1. STA
2. ATE
3. HAT

4. SUA

Correct Answer :-

« STA

35) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply

* => Division

/ => Addition

- => Equal to

= =>Minus

25/4=10/4/8/ 3?

/@ﬁﬁmmmmaﬁ&ﬁ?ﬁ?mmmﬁ:
gl;

+ => UM BT

* => fgUTSH
/=>'€ﬁ"T

- => P W

= => B[
25/4=10/4/8/ 3?

1.34
2.36

3.35
(12)



Correct Answer :-

. 34

36) If SHAPER is coded TGCNHO, then how is EXERCISE coded? / df¢ SHAPER & TGCNHO J Hifsd
g SITaT 8, 9 EXERCISE &1 3 SIS fpar Smaem?

1. FWGPFFWA
2. FWGPFGWZ
3. FWGQFFWA

4. FWHPFGWA

Correct Answer :-

« FWGPFFWA

37) In a certain code language, pada wada sada means good looking girl, saj sana sada means
looking for you, deka saj ren means for all students. Which is the word for youin that code
language? / TP W@ PIS HTHT ﬁ', pada wada sada T 3 of good looking girl, saj sana sada ®1 aref
looking for you, deka saj ren &1 3 & forall studentsgran % g9 PIS YT | you & fore fore w1eg 1

FxTe 5T T 32
1. deka
2. sada
3. sana

4. saj

Correct Answer :-

38) The first President of Indian National Congress was / HRdId AP HIUH F Ugal APUfT
1. A.O. Hume / T.31. g0

2. W.C. Banerjee / Eﬁmaﬁ

3. S.N. Banerjee / TH.UA, TSI

4. Dadabhai Naoroji / arcnméqﬁrrﬁ

Correct Answer :-

« W.C. Banerjee / Sﬁﬁfaﬁ



Statements:

Some sparrows are kids

Some sparrows are not houses
Conclusions:

I. All houses are kids

II1. All kids are sparrows

| 39 fape o1 ag= Sifere i f feu 1 Sy i Fopuf & ar d 981 ©:
DY:

7o Tivar R 8

PO INAT RTS8
o

L O R R d

1. 9t Ry aRarg

1. only conclusion Il follows / Fad sy || mm%

2. only conclusion | follows / Had =Py | &I?NTUTWT%

3. neither conclusion | nor conclusion 1l follows / :T—Epf ﬁwﬂf | Gﬁ?:f—bpf ﬁﬁh_ﬁf [l WW %
4. both conclusion | and Il follows / fspe | 3R 11 <l WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows /7 &t et | 3R 7 & s 11 \HWW g

40) Select the option that is true about the Statements and Conclusions given:

Statements:
All pens are pencils

All pencils are erasers

Conclusions:

I. All pencils are pens

II1. All pens are erasers

/ 39 faPpeu &1 Ig I & 7 faE e ST ok fepuf & aR # 98t @:
DY

It pew IR &
It iR e §
e

I. g iR pau &
II. 9 PaHEs &



~

2. only conclusion I follows / Had e | WW%
3. neither conclusion | nor conclusion 1l follows / - gT =y | 3R :fgf ey || S0 GG %

4, both conclusion | and 1l follows / fAspy | 3%? Il G SR dXd %

Correct Answer :-

« only conclusion Il follows / Wﬁwﬁf Il WUTW%

Topic:- Mental Ability and Mental Aptitude

1)

1 -
A can contains 20 kg of oil 3 5 kg and 12% kg are poured into 2 vessels, how much is [eft in the can?/ Tds e 7 20

Toharr el @1 ST &, 59 3%|’Ebcu| FR 12%%%2 FTTI-3TO19T. dcl=il &1 STell STl &l thel & &< g
el T AET fhaer g7

—

3

T

- | O
""‘| LN

“19

"N Bt

4.

Correct Answer :-

(15)



In the sequence shown below, which figure comes next? /= T¢T I hH H, Hell
FTBI iet T 3E0?

I

-,

A
\

If the following two squares shown below overlap, which one of the fellowing options

is formed? / afe RF= &F @97 Afdcaid gl &, af &= 7 & oia a1 U [dbeq aaadr 57

Hllj==

(16)



4) :
In the sequence shown below, which figure comes next? / @l 631 TR &H #H, Haell
HPIT Hia T IREI?
vV E 1 O 9
&\
1.

(17)



Correct Answer :-

[l

5) In what time will a train 120 m long cross an electric pole. Its speed is 54 kmph. / 120 Tex vt Uﬁ?a:f
et ara s4 {5t/ B, T foorel & @) ) frat R § uR St

1. 8560/8@.
2.10sec/ 10 9.
3. 6sec/ 69

4. 5sec/59.

Correct Answer :-

. 8560/8@.

6) Two sums of money are in the proportion of 8 : 13. If the first sum be 48, the addition of two sums is: / Tt

¢ & &) AT BT SJUTA 8 : 13 §1 AfS TgaT AT 48 § Y ORI AT ITI:
1. 126
2. 124
3.128

4. 120

Correct Answer :-

7) Shyam obtained 65, 67, 76, 82 and 85 out of 100 in different subjects, what will be the average? / RUTH Al

fafra fawrat & 100 § F 65, 67, 76, 82 3N 85 37 YT §T, SRIT T 2

1. 80

(18)



3.70

4. 85

Correct Answer :-

« 75

8) Evaluate 'x' in x - 2597 = 6098 - 376. / x - 2597= 6098 - 376 ¥ x* BT U JTd BIFOIT:
1.2547
2. 5622
3. 4798

4. 8319

Correct Answer :-

« 8319

9) What is the sum of xy, 2xy, and 7xy? / xy, 2xy 3R 7xy PT ?-'ﬁ"TWE-iTI'I'"
1. 10xy

2. 10

3. llxy

4. 14

Correct Answer :-

10) A boat travels upstream at a speed of 6 kmph and travels downstream at a speed of 8 kmph. What is the
ratio of the speed of the stream to the speed of the boat in still water? / YIRT 3 faudia fezm o U H1d P19 6
fopfl/e SR e o fo=m & a1 8 fefie 81 oy ofk fRR 5@ & <ra 3t ifay &1 srgura wm g

1.1:6
2.7:1
3.1:7

4,.6:1

Correct Answer :-



TSN BT 4N 264 B, A 39 @ BT AT AR
1.76
2. 90
3. 88

4. 92

Correct Answer :-
« 90

12) If the radius of the wheel of a bus is 70 cm and its speed is 66 kmph, then the rpm (revolutions per minute) of

the wheel will be: /uﬁiwaﬂ%?tr%ﬁaﬁﬁw 70%%%@3&% 66%/‘33%,3}@'&@
RYTew (wfa fore goi) gim:

1. 200
2. 250
3.500

4. 300

Correct Answer :-
e 250

13) In a certain village, 6 women can work for 8 hr a day and finish a work in 10 days. If 10 women are working
for 6 hr a day, then how many days will they take to complete the work? / ¥cb Id ﬁ, 6 Afgard ufafes 8 6 &
Fa gU forlt S 31 10 fo7 & JATE B At &1 31 10 Az wfafes ¢ O ™ &3 a9 $19 g g9 |
fepam e @i

1. 12.5 days /12.5 fa=1
2. 13 days /13 a1
3.10 days / 10 Ta

4, 8 days /8 fa1

Correct Answer :-

« 8days/8fad

14) A can do a work in 16 days and B can do the same work in 12 days, working together. What part of the work
they can finish in two days? / A Tt ST B 16 R H SR BN T o 12 T A R AR IAPpar g1 Ty A
P P gy, 2 fe 9 9 fovam oo B urde

1. 5/8

(20)



3.173

4. 7724

Correct Answer :-

- 724

15) The speeds of three trains are in the proportion 20 : 19 : 18. If their speeds are increased by 18%, 19% and
20% respectively, the proportion of their current speeds is: kiG] aTﬁ CARIGED) SUTd 20: 19 : 18 %l gfe
D! T HURT: 18%, 19% 30X 20% T¢ AT df S1 Tl BT SJUTd §HI:

1.1:1:1
2.2360:2261 :2160
3.360:361:360

4.360:361:362

Correct Answer :-

e 2360:2261:2160

16) 30 % of officers in a bank are about to retire. If the number of officers who retired are 24 ; then how many

officers are in the bank?/@%%%% WW#W@%I qﬁﬁawsﬁmﬁmﬁmﬁu’raﬁm
24 3 9 9 H pa fohaq HHART 82

1. 100
2. 80
3. 60

4. 65

Correct Answer :-

17) During a celebration,405 toffees are distributed equally among children in such a way that the number of
sweets received by each child is 20 % of the total number of children. How many toffees did each child receive? /

TP Io9d & g, 405 SITBAl DI =l § 59 PR FicT 1T {6 TS 91 Bl o a=di D1 AT BT 20%
TIfpal uTed 83 | T 9= H1 fha-il eiftear feit?

1. 18
2.45
3.15

4.9
(21)
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18) By selling a steel almirah for Rs. 3,600, a merchant loses 10%. Calculate his loss or gain in percent, if he sells

it for Rs. 4,225. / T P TP ATHRT BT 3600 TUY H 92 U Th SATIRT BT 10% H1 814 glal 81 T
SETHRT P 4225 TUY H AT SITT <t S YIS BI 9Teil ATH 31T T Jaraii|

8- % gain / s%% oSt

Ga | Lh

5.,
6—"% gain / 6§%ﬂTBT

oo | L

3. -2
7=%gain / 7 =% ®ells
8 8

5 . 5
5=%gain / 5=% @&
8 g

Correct Answer :-

-3 . =
5=%gain / 5=% ollsT
8 g

19) The cube root of (483%483%483 + 517*517*517) / (517*517 - 517*483 + 483%483) is: / (483*483*483 +
517%517*%517) / (517*517 - 517*%483 + 483*483) BT U1HA %:

1. 50
2.52
3. 10

4. 45

Correct Answer :-

20) Ahmed was sanctioned a personal loan of Rs. 1,00,000 from a bank, of which, he had to pay Rs. 20,000 to his
landlord; Rs. 3,000 to his partner; and with Rs. 35,000 he had to purchase a motor cycle. What is the amount left

with Ahmed? / 3[GHE 7 TP 9§ ¥ 1,00,000 BT G-Il A feram forRaH | 20,000 IHA ABTH HIfI® B, 3000
3 IR P AW 3fR 35,000 TUY BT I TP Hiex Agfra @I | 3EHe & U faq Tl T=l2

1. Rs. 43,000 / 43,000 ST

2. Rs. 42,000 / 42,000 39
(22)



4. Rs. 39,000 / 39,000 STT

Correct Answer :-

« Rs. 42,000/ 42,000 STT

21) Find the average of even numbers between 1 and 19? / 1 T 19 & 91 1 JH T=I3H BT \?rﬁ'\‘lﬁ'iﬂ?l'ml
1.12
2. 10
3. 14

4.8

Correct Answer :-

22) Find the average. / Gﬁ'\‘:l?f ﬁﬂ')‘lﬁ’l’&l
16, 21, 26, 31, 36 & 44

1.26

2.29

3.25

4. 30

Correct Answer :-

23) Sana collected coins in a bag. She was able to collect 500 coins of 25p and 600 coins of 50p. One day, she
removed 25% of 25p coins and 30% of 50p coins from the bag. What percentage of the money did she remove

from the bag? / T-IT 3 TP 9T H g b3 fHT §1 I 25 TA & 500 Fyad 31 50 TA & 600 o 5P
gm wﬁngﬁénﬁzﬁﬁ%zmﬁa%?aﬁuoﬁﬁ%so%ﬁlﬁﬁmaﬁqlwﬁéﬂ@rmﬁuﬁﬁzﬁ

1. 28.5%
2.25%
3.33%

4. 30%

Correct Answer :-

. 28.5%
(23)



24) Presently, Grandpa Billy is thrice as old as his grandson Jake. Ten years ago, Jake was one-fifth Billy's age.

What would their (Jake, Billy) ages be after ten years? / g H grer faelt erua Ui S 3t 3 F ﬁf{l,el gl
10 9 TS O, fIeit B g &7 1/5 UT| 10 T 916 371 (G, faehh) Fi emg fra= Rl

1. 20, 80
2. 20,70
3. 30,70

4. 30, 60

Correct Answer :-

25) The difference between two numbers is 393. When the larger number is divided by the smaller the quotient
is 2 and remainder is 50. What is the smaller number? /?ﬁ T=T3 BT 3 393 %I oid a—eﬂ T B DI TG=&AT
| YT T ST & A HRTGd 2 TUT ATH 50 ST 5 1 DI @S S Al 5?2

1. 263
2.343
3. 366

4, 443

Correct Answer :-

e 343

26) Which one of the following four addresses is NOT EXACTLY same as the one given below? / BE] %&Tfa‘a'l?tl'cﬁ

#H 9 3 3 T 7 & e FHHE S |1 TP 81 87

Barbara Blais,
H-2051 Biatorbagy,

Paul Hartmann u. 6, Hungary

(i) Barbara Blais,
H-2051 Biatorbagy,

Paul Hartmann u. 6, Hungary

(ii) Barbara Blais,

(24)



Paul Hartmann u. 6, Hungary

(iii) Barbara Blais,
H-2051 Biatorbagy,

Baul Hartmann u. 6, Hungary

(iv) Barbara Blais,
H-2051 Biatorbagy,
Paul Hartmann u. 6, Hungary

1. iii

27) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: ISiE]
S g §, ieRY 3R T=aT3l &1 U BH AR € | Tad Saie ugErg:

i.iiju10014uiji

ii.iigu10014uiji

iv.iijul0014uiji

1. iii

2. iv

3.11

4.1

Correct Answer :-

e ii

28) A successive discount of 20 % and 10 % are equivalent to what single discount? / 20% Gﬁ? 10% @t

HiH® ge TP 1Y fHat gril?

(25)



2.25%
3.28%

4. 30%

Correct Answer :-

« 28%

29) The present ages of X and Y are in the ratio of 3:2, If the difference between the ages of X and Y after
12 years is 15. What is the present age of X2 / X 3fR Y 3 IHT 3T HT 3UTd 3:2 81 Al 12 19 918 X
3R Y B 3T FT S 15 Bl G138, A X DI addM g fha=it g2

1. 45
2.27
3.15

4.35

Correct Answer :-

30) The runs scored by Muttiah Muralidharan in six one-day matches were 47, 56, 112, 28, 59, and 34.
What will be his average score? / 6 Tl § GUTT YRR GRT I T TR 47, 56, 112, 28, 59 3R 34 8,
IIDT 3fId WHR fha 82

1.55
2.54
3.57

4. 56

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)

(26)



VArious exXpenditure 1l percernrage 1s grven 1 e DeLosw ple CHArt. VWILCH OT T1E IOUOWING [WO0 eXpPenaliures

together have a central angle of 10827 / fo¥e=t QEIE? @a 7 affea g gided & &w %I
@ & O wid & & =g [@ea 108° o7 FET HIoT §?

Expenditure
- —_“‘-\_"
Va Education \\
10% b
/ Others Food
'/ T 5% 20%
| A , A
Fuell
1552
[ B
Clothing

e 205

1. Education and Clothing / e sk o
2. Food and Others / WTe 3R 3/

3. Fuel and Education / 3¢ 3R fRrer

4. Housing and Clothing / 3{TdT¥ 3R T

Correct Answer :-

« Education and Clothing / 2781 SR =

2)
In the given figure, AB is parallel to CD and AB =EB, 2ACBE =20° and 2BCD =30°, then £ZEAB =7/ few T

s 7 AB. CD & §HIGY & 3iR AB=EB.2CBE=20°3i¥ «,BCD =50°, df ~,EAB="7

(27)



Correct Answer :-

o]

« 75

3) If#+ (x+2)=(x+2), then # stands for: / TIg # + (x+2) =
=28 % % U W gaml

1.1

2.x%—4x+4

3.x2+4x+4

4.x>+4

Correct Answer :-

o X>+4x+4

4) .
Fex) +H20(g) —-=2 FexO:3(v) +Hag

X and Y are respectivelyv: /X Tl Y HERT %

1. Solid : solid / 319: 319
2. Gas : liquid /9. 5q

3. Liquid: solid / &&: 319
4. Solid : liquid / 319 &4

Correct Answer :-

« Solid : solid / 319: 319

5) Ifthe angle in a minor segment is x° and in the major segment is v°. then: / IT¢ Teh ol s "

FIT x° § 3R fU@s & v, an

(28)



. . ‘ cme ol
A certain sum of money amounts to Rs. 678 in 2 years and to Rs. 736.50 in 3 ~years. The rate of

interest is: / 4T T v TARET T 2 avt F 678 T gie § 3R 3; @i A 736.50
TOIT gl §1 =ar T EX &

6)

1. 7.5%
2. 7%
3.6.5%
4. 6%

Correct Answer ;-

- 6.5%

7)

2707 2787
The squars root of 21 4 15 /21 4&7[ I ﬁ’ :
- -

0l
nl

e
|

m
 (n]

Correct Answer :-

4
0l
F:

[4)]
[in]

(29)



8) A shopkeeper offers 10% off-season discount to the customers and still makes a profit of 26%. The
cost price for the pair of shoes marked at Rs.1120 is: / Y gPTHGIR 39 UTEH| P 10% MTH-JIol
Fe a1 8 3R = ot 26% &1 ATH HUTAT 81 S ®1 ST o W 1120 TU Sifdha U1, 39HT AFTG

TR

1. Rs. 800 / 800 3T

2. Rs. 750 / 750 3T

3. Rs. 1008 / 1008 TG
4. Rs. 1000 / 1000 TG

Correct Answer :-

« Rs. 800 /800 ¥UT

9) Which of the following expressions is equivalent to 91522 /ﬁ"}rﬁf@_vf tlﬂﬁ' AA P 9152 &
TUDE B2

q 15X 15
L (%)

(9 x 2)5%2
2,

g x 9 A5 15
" ( )

Correct Answer :-

(9}15)'.2

10) If the diagonals of a rhombus are 6 m and 8 m, then its side is: / !Ii%magﬁa ¥ fawl 6 ez
37 8 Hiex &, Y SHPT Yol 3 :

1.2.5m /2.5 HicX
2.10 m / 10 HIcX
3,2m/2 AR
4.5m/5HieX

Correct Answer :-

« 5m/5HR

(30)



11) The digit in the tens place of a two digit number is 3 more than the digit in the units place. Let the
digit at units place be x. Then the number is: /E.Pf 3] B = H Eﬂa R BT 3D, ?ﬁﬂ’sﬂ Y P
3% | 3 YD 1 A AOMY, THTE M R x 3P 31 T HSI 8 :

1. 10x+ 30
2.10x +3
3.11x+3
4. 11x +30

Correct Answer :-

e« 11x+30

12) The number of square tiles required of size 20 cm to cover a square courtyard of area 64 m? are: /

?e4wzm%ﬁm%m%mzow%m%aﬁmﬁmm

1. 800
2.2000
3.3200

4, 1600

Correct Answer :-

« 1600

13) The smallest even number whose square root and cube root both exists as a natural number is: /
AYAH THIET foraet iy iR a9 gl Wipfa® 9@ & U i fague 8

1.32

2. 64

3.8

4,16

Correct Answer :-

14) The unit’s digit of cube of 833 is: / 833 & g BT wrs‘ AP T :

.3
(31)



3.1

4.7

Correct Answer :-

15) The length of the fence of a trapezium shaped field ABCD is 120 m. Side AB is perpendicular to the
parallel sides AD and BC. If BC =48 m, CD = 17m and AD = 40 m, then the area of the field is: / T
U PR & &F ABCD & d18 D AaTg 120 e §1 YT AB, THIAR YIS AD 3R BC &
THad 8191 BC = 48 Hiex, €D = 17 Hiex 3R AD = 40 W B, A & &7 &P R :

1. 660 m2 / 660 HIeI2
2. 330 m2 / 330 Hice?
3.1360 m2 / 1360 Hiex?2

4, 1320 m? / 1320 HIe2

Correct Answer :-

« 660 m?2 / 660 Hic3?

16) Which one of the following metals is NOT magnetic? g I eE S I ﬂ'@ﬂ%ﬂ T gl 82
1. Tron / IgT

2. Stainless steel / TCeRT WCId

3. Nickel / ffcbet

4. Steel / et

Correct Answer :-

« Stainless steel / RTAT WA

17) How many natural satellites do the planet Mars have? | H T U o foaa LTITI%IW ELPE %'?
1.3

2. None / Th o :lﬁ

3.2

4.1

Correct Answer :-
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18) World water day is observed on /Ry fkaw B AT ST 8 1
1.22nd March / 22 919
2. 21st March / 21 I
3.23rdMarch / 239

4.30th March / 30 A

Correct Answer :-
« 22nd March / 22 AR

19) Raju had a fall and doctor told he has tendon damage on knee. What does it mean? / TITrLﬁRtIET% 3R

Sigex 7 I Ta1T § 95 Yoo R e g gon 81 sueT wan o &2

1. Tissue which attached muscles to bone got damaged | AU &l Sy UI\I\?'TI Tl S dd &R EBITITIT%I

2. Tissue that join the bones got damaged / SR} BT SIS dIdd KHdP &m%ﬁm%l
3. Bone fractured / 3‘]@@?‘1’{%1
4. Muscle at the knee got damaged /ﬂ?ﬁmmﬁﬁﬁ &fmgfﬁ%l

Correct Answer :-

¢ Tissue which attached muscles to bone got damaged /AUt ot Ry I SIS dIdl KHdh &m%ﬁm%l

20) What causes peptic ulcers? / ﬂ% gur e HRUT '6.1% '%'?

1. Staphylococci /W
2. Salmonella /W?ﬂ

3. Helicobacter pylori / %ﬁméaa CII%(_"“'(;
4, Leishmania /?ﬁmﬁﬁtﬂ

Correct Answer :-

Fex UIgant

K=14

e Helicobacter pylori /%I D

21) The epithelial cells which are flattened, closely packed like tiles on the floor are: / IUBdl HIRNER Siife

IUCT €, 9 PR IR T5al B1 a8 e T q Iopfea €, gl 6:
1. Squamous epithelial cells / Ted! JTHAl ﬁm
2. Ciliated epithelial cells / aeAt SuSH AT BHIRIBTY

3. Columnar epithelial cells / THTPR ITHAT HIRD U
(33)



Correct Answer :-

« Squamous epithelial cells / Tedh! IUHT HIRABIY

22) Girth of the stem increases due to . /AT @Bt Ui & BRI aﬁ%l

1. Lateral meristem [EIT-‘Fcf oy

2. Intercalary meristem /Wﬁw
3. Vertical meristem /3 @TERIAHT

4. Apicalmeristem R favsa

Correct Answer :-

« Lateral meristem [QTSZé Ry

23) Which of the following produces seeds? / fada CaCkeic) BWI'%H GG %?
1. Thallophyta / a?ﬁtm%?[

2. Pteridophyta /él?@iltﬁlsa
3. Gymnosperms /g

4. Bryophyta /araﬂtmsa

Correct Answer :-

e Gymnosperms /ﬁl@l@lﬁ

24) Microorganism that convert dead plant and animal parts into humus are called: /%ﬁ&ﬁﬁﬂﬂﬁﬁﬁlﬁ?ﬁ
TUT Y SHaR) & vl o1 gguy # uRafdd #3d §, 3 ®ed &:

1. Decomposer / UdcH
2. Herbivore / TMBIERI
3. Carnivore / HIGTERI

4, Producer / 3dlgd

Correct Answer :-

e Decomposer / UHUch

25) It is difficult to move a cycle along a road with its brakes on because: / % TR 8% & HIY ATZfHhd

TATHT GRpd gl § Hifp:

(34)



w ~ ~

2. Sliding friction is less than rolling friction /ﬂﬁaﬁmémaﬁmﬁmm%l
3. Rolling friction is less than static friction /WW@WW@W@W%I
4. Rolling friction is less than sliding friction / WW@W@W@W%I

Correct Answer :-

« Rolling friction is less than sliding friction / WW@W@W@W%I
26) Test tube baby means: / e3¢ eJd dd1 &1 Iadd &:
1. The embryo grows in a large test tube. /ﬂ;gwwa?ﬁéweq\a’ﬁ m%l

2. Fertilization and development of the embryo takes place in the uterus of the mother. AELEREEIT H\UTWW

AT P TH & BT gl

3. Fertilization and embryonic development up to a certain stage occurs in the test tube. /Wﬁféﬁ AR deb

i 3R yofta et e A glaT 2|

4. Fertilization takes place in the body of the female and development of the embryo takes place in the test tube. /

e Aitar & IR A BT § IR YU $1 o o egs | sl g

Correct Answer :-

« Fertilization and embryonic development up to a certain stage occurs in the test tube. /Wﬁf’:&lﬁ AR dh

A 3R yofta o e cg@ A gl g |
27) Burning of a matchstick is an example of: /qﬁﬂﬁ?ﬂ?ﬁﬁmmwméz
1. Spontaneous combustion / ¥dd: g
2. Ideal combustion / 37e2f Gg=
3. Slow combustion / €A1 &g

4, Rapid combustion / 25 gg

Correct Answer :-

« Rapid combustion / ¥ &g

28) When electric current is passed through water, water dissociates into hydrogen and oxygen. Hydrogen is

deposited at: / 19 fagad UaT8 $! 9a | yatfed fHar Sran 8, 9 9d grgg o 3R sifRiterq § faaifa g sirar @
| ST ST $H UR STHT 81 SIaT 8%

1. Neither negative nor positive / - B BUTHS AR HRRIRED

2. Negative electrode only / S d¢f 2B UNHD %@10@6

3. Either negative or positive /T Al BUTHD T YATHD
’ - (35)



Correct Answer :-

» Negative electrode only / Had BUTHD 5@1@96

29) Ina food chain, the third trophic level is always occupied by: / W<l %i_EFITff WWW'&%

T GRT HATRIT gaT B
1. Decomposers / ATUCH
2. Carnivores/m

3. Herbivores /Wfsm

4. Producers / STTGH!

Correct Answer :-

¢ Carnivores /Ilm

30) If 2x + 3y = 14 and 2x — 3y = 2, then the value of xy is: /ﬂﬁZx+3y= 14 3-ﬁ?2x—3y= 2, ?ﬁxy
PIAME :

1. 17
2.8
3.28

4,13

Correct Answer :-

8

(36)



